

第8表 品目別、産地別月別取扱数量および金額（果実）（つづき）

（上段数量（kg）中段金額（円）下段単価（円））

	品名 産地	総計	1月	2月	3月	4月	5月	6月	7月	8月	9月	10月	11月	12月	
	プラム類														
	22年	402,467 196,554,735 488	-1 -630 630				969 1,012,947 1,045	51,131 32,057,606 627	97,717 50,597,680 518	163,621 69,345,130 424	61,815 30,940,910 501	27,151 12,586,182 464	64 14,910 233		
	23年	423,689 191,885,219 453					586 697,158 1,190	69,155 35,531,989 514	101,862 47,582,296 467	137,653 58,600,411 426	71,637 30,921,625 432	40,421 17,388,171 430	2,375 1,163,569 490		
	24年	474,429 195,024,085 411					427 523,530 1,226	47,251 24,533,290 519	89,350 46,347,205 519	172,408 68,711,786 399	84,122 31,538,601 375	74,462 21,671,413 291	6,409 1,698,260 265		
1	北海道	217,896 64,120,034 294							1,848 508,652 275	74,903 21,415,265 286	62,152 19,621,315 316	72,584 20,876,542 288	6,409 1,698,260 265		1
	（道外計）	256,533 130,904,051 510					427 523,530 1,226	47,251 24,533,290 519	87,502 45,838,553 524	97,505 47,296,521 485	21,970 11,917,286 542	1,878 794,871 423			
2	青森	42,190 17,880,252 424							15,499 6,420,792 414	18,357 7,549,660 411	6,658 3,221,147 484	1,676 688,653 411			2
3	山形	3,056 1,047,605 343							1,369 424,620 310	438 119,364 273	1,047 397,403 380	202 106,218 526			3
4	福島	23,553 9,322,443 396							16,782 7,480,198 446	6,771 1,842,245 272					4
5	東京	19 26,355 1,387							19 26,355 1,387						5
6	山梨	113,143 59,908,820 529					5 6,300 1,260	9,048 5,252,267 580	40,592 22,692,880 559	59,298 30,066,449 507	4,200 1,890,924 450				6
7	長野	27,621 17,810,582 645							4,915 3,683,967 750	12,641 7,718,803 611	10,065 6,407,812 637				7
8	和歌山	45,041 23,021,364 511						36,813 18,021,684 490	8,228 4,999,680 608						8
9	福岡	200 152,964 765						200 152,964 765							9
10	佐賀	1,085 1,160,619 1,070					304 354,690 1,167	779 803,304 1,031	2 2,625 1,313						10
11	長崎	84 43,680 520						84 43,680 520							11
12	熊本	541 529,367 978					118 162,540 1,377	327 259,391 793	96 107,436 1,119						12

第8表 品目別、産地別月別取扱数量および金額（果実）（つづき）

（上段数量（kg）中段金額（円）下段単価（円））

	品名 産地	総計	1月	2月	3月	4月	5月	6月	7月	8月	9月	10月	11月	12月	
	すもも														
	22年	26,336 16,259,310 617						453 325,437 718	9,371 6,017,464 642	13,736 8,620,268 628	1,538 605,178 393	1,238 690,963 558			
	23年	25,066 16,022,011 639						317 437,724 1,381	6,363 4,132,627 649	15,783 9,957,330 631	1,288 794,830 617	1,315 699,500 532			
	24年	34,984 17,182,661 491					3 4,620 1,540	386 344,836 893	11,530 7,462,109 647	19,883 8,374,175 421	1,772 567,828 320	1,410 429,093 304			
1	北海道	10,648 2,028,413 190								8,959 1,616,844 180	485 93,419 193	1,204 318,150 264			1
	（道外計）	24,336 15,154,248 623					3 4,620 1,540	386 344,836 893	11,530 7,462,109 647	10,924 6,757,331 619	1,287 474,409 369	206 110,943 539			
2	青森	496 195,992 395									492 191,267 389	4 4,725 1,181			2
3	山形	1,471 470,840 320							335 62,832 188	201 49,140 244	733 252,650 345	202 106,218 526			3
4	東京	7 11,550 1,650							7 11,550 1,650						4
5	山梨	21,889 14,241,778 651						380 335,596 883	10,894 7,229,849 664	10,615 6,676,333 629					5
6	長野	366 150,802 412							196 88,452 451	108 31,858 295	62 30,492 492				6
7	和歌山	80 42,546 532							80 42,546 532						7
8	佐賀	2 2,625 1,313							2 2,625 1,313						8
9	熊本	25 38,115 1,525					3 4,620 1,540	6 9,240 1,540	16 24,255 1,516						9
	大石すもも														
	22年	160,452 68,812,418 429					963 1,004,547 1,043	46,815 29,098,223 622	60,081 28,404,790 473	52,593 10,304,858 196					

第8表 品目別、産地別月別取扱数量および金額（果実）（つづき）

（上段数量（kg）中段金額（円）下段単価（円））

	品名 産地	総計	1月	2月	3月	4月	5月	6月	7月	8月	9月	10月	11月	12月	
	大石すもも (つづき)														
	23年	158,012 69,899,354 442					586 697,158 1,190	68,448 34,739,449 508	62,722 25,924,355 413	26,220 8,532,722 325	36 5,670 158				
	24年	118,722 53,758,773 453					424 518,910 1,224	46,311 23,776,078 513	47,244 21,549,953 456	24,743 7,913,832 320					
1	北海道	14,970 3,886,576 260							1,848 508,652 275	13,122 3,377,924 257					1
	(道外計)	103,752 49,872,197 481					424 518,910 1,224	46,311 23,776,078 513	45,396 21,041,301 464	11,621 4,535,908 390					
2	青森	27,120 10,956,700 404							15,499 6,420,792 414	11,621 4,535,908 390					2
3	山形	989 347,340 351							989 347,340 351						3
4	福島	15,662 7,008,874 448							15,662 7,008,874 448						4
5	山梨	21,900 12,171,201 556					5 6,300 1,260	8,661 4,905,646 566	13,234 7,259,255 549						5
6	長野	12 5,040 420							12 5,040 420						6
7	和歌山	36,698 17,938,104 489						36,698 17,938,104 489							7
8	福岡	200 152,964 765						200 152,964 765							8
9	佐賀	1,056 1,134,054 1,074					304 354,690 1,167	752 779,364 1,036							9
10	熊本	115 157,920 1,373					115 157,920 1,373								10
	ソルダム														
	22年	46,167 24,641,186 534					6 8,400 1,400	3,831 2,596,986 678	27,376 15,220,189 556	14,631 6,672,727 456	323 142,884 442				

第8表 品目別、産地別月別取扱数量および金額（果実）（つづき）

（上段数量（kg）中段金額（円）下段単価（円））

	品名 産地	総計	1月	2月	3月	4月	5月	6月	7月	8月	9月	10月	11月	12月	
	ソルダム (つづき)														
	23年	49,517 21,938,159 443						359 302,988 844	30,820 15,775,877 512	15,030 4,994,010 332	3,308 865,284 262				
	24年	42,395 19,633,759 463						547 401,351 734	25,731 13,582,926 528	15,454 5,415,416 350	663 234,066 353				
1	北海道	637 103,057 162								637 103,057 162					1
	(道外計)	41,758 19,530,702 468						547 401,351 734	25,731 13,582,926 528	14,817 5,312,359 359	663 234,066 353				
2	青森	7,340 3,229,380 440								6,736 3,013,752 447	604 215,628 357				2
3	山形	248 73,710 297							45 14,448 321	144 40,824 284	59 18,438 313				3
4	福島	7,891 2,313,569 293							1,120 471,324 421	6,771 1,842,245 272					4
5	山梨	17,549 8,546,948 487							16,418 8,140,020 496	1,131 406,928 360					5
6	長野	35 8,610 246								35 8,610 246					6
7	和歌山	8,263 5,040,714 610						115 83,580 727	8,148 4,957,134 608						7
8	佐賀	27 23,940 887						27 23,940 887							8
9	長崎	84 43,680 520						84 43,680 520							9
10	熊本	321 250,151 779						321 250,151 779							10
	太陽														
	22年	51,037 30,684,800 601						32 36,960 1,155	507 615,300 1,214	43,642 25,686,444 589	6,856 4,346,096 634				

第8表 品目別、産地別月別取扱数量および金額（果実）（つづき）

（上段数量（kg）中段金額（円）下段単価（円））

	品名 産地	総計	1月	2月	3月	4月	5月	6月	7月	8月	9月	10月	11月	12月	
	太陽 (つづき)														
	23年	43,585 21,948,626 504						31 51,828 1,672	246 325,300 1,322	35,787 18,299,865 511	7,521 3,271,633 435				
	24年	60,293 29,414,814 488					7 11,025 1,575	138 161,742 1,172	47,822 23,050,997 482	11,470 5,725,690 499	856 465,360 544				
1	北海道	219 52,164 238								217 51,849 239	2 315 158				1
	(道外計)	60,074 29,362,650 489					7 11,025 1,575	138 161,742 1,172	47,605 22,999,148 483	11,468 5,725,375 499	856 465,360 544				
2	青森	6,138 3,211,152 523									5,282 2,745,792 520	856 465,360 544			2
3	山形	238 119,700 503								53 15,960 301	185 103,740 561				3
4	東京	12 14,805 1,234							12 14,805 1,234						4
5	山梨	51,805 24,948,893 482					7 11,025 1,575	46 63,756 1,386	47,552 22,983,188 483	4,200 1,890,924 450					5
6	長野	1,801 984,919 547									1,801 984,919 547				6
7	熊本	80 83,181 1,040							80 83,181 1,040						7
	プルーン														
	22年	118,475 56,157,021 474	-1 -630 630						382 339,937 890	39,019 18,060,833 463	53,098 25,846,752 487	25,913 11,895,219 459	64 14,910 233		
	23年	147,509 62,077,069 421							1,711 1,424,137 832	44,833 16,816,484 375	59,484 25,984,208 437	39,106 16,688,671 427	2,375 1,163,569 490		
	24年	218,035 75,034,078 344							4,707 3,590,475 763	64,506 23,957,366 371	70,217 25,011,017 356	72,196 20,776,960 288	6,409 1,698,260 265		

